N = 0 &8 AFH Y & A AN
20199 & 20l & LESH A X
S =ES
N mgsed
Sl EES A (S &2)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
=S 239,385 217,145 22,240
B 135,110 125,450 9,660
Sats At 3l 135,110 125,450 9,660
AL FOSJALY 40,000 40,400 N 400
401 Al HI L £ 0HHI 40,000 40,400 AN 400
01 A& HI 40,000 40,400 A 400
OARLE FOU=IAAMNY 35,000
OF0A B3 A 5,000
Asgdgued 7,034 8,984 A 1,950
301 dEtEAZ 7,034 8,984 A 1,950
04 Xt LEHUHAH X 7,034 8,984 A 1,950
OXs2dHU& OkAlH| 4,000 x2H «365 2,920
ogddxt#ady 3,000
O&Il= 6,000 x12& 72
OH ZHl 392,000& *1JH & 392
O=x=A&2 KXY 150,000& *1JH 2 150
OXsgdl 2494 500,000& * 104 & 500
SEHE 23| 46,090 46,090 0
301 dEtE A= 46,090 46,090 0
0B SN -0/& - -BtEEs8AZ 46,090 46,090 0
Os&IIEs4 200,000& *13H x12& 31,200
O E=] 200,000 13X *200% 5,200
O3l &t 20,0003 *13H x12& 23] 6,240
OBtagEAZ 25,000& *69H 23| 3,450
A ALK 16,820 8,820 8,000
201 et A | 10,000 0 10,000
03 SHAIS H I 10,000 0 10,000
OAM2M=Cz2l 10,000
301 dBtE A= 3,820 3,820 0
09 HAIAHI EA = 2,820 2,820 0
O HOIEEUZ 20,000& *25H 500
OZE& M & AL 1,000
OJIEFEH AL 20,000& *40H 800
OS&(ER) dsiUs 40,000& *13H 520
12 JIEtE &2 1,000 1,000 0
S XA 1,000
405 X+HaHF SHI 3,000 5,000 A 2,000
01 A&t = S F SHI 3,000 5,000 A 2,000
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S =ES
HH: ZESRY
Sl S S A | CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFUHMEZ AL (=LA X2 2F) 3,000
EAr2el 25,166 21,156 4,010
101 @124 dl 20,166 18,456 1,710
4 JI2ZHHZ22XEES 20,166 18,456 1,710
O 24 JtZ&FH| 68,9003 x 10 +63] 4,134
Od==3 st&4a 2l 66,8002 x120 1 8,016
OREH 2t0|3t&E A 22| 66,8002 1202 *1H 8,016
201 Let24d] 1,200 1,200 0
01 AP 2teltl 1,200 1,200 0
OF AR ZH| 100,000 10 2+ 123 1,200
206 M= Hl 3,800 1,500 2,300
01 M= 4l 3,800 1,500 2,300
Od=3 3t&4 2SS (HEFXN, EAEF 8) 1,000
O2Z z=d ¥ 3H =t i 500
OFQUANEZ AN 2,300
HY2IZH (RES) 104,275 91,695 12,580
=gsJl=3l 104,275 91,695 12,580
=gs Jl=gdl 67,405 91,695 A24,290
201 £B-2%H| 31,405 60,695 A 29,290
01 At 22l 16,405 45,695 A29,290
Ot~ 10,800
OxRY MHe¢ 25,0002 117 2,925
O= &l 1,680
O22=+7&H ¢z 1,000
02 =24l 15,000 15,000 0
O=323<HA 9,000
O =l 3,500
O Xt 1,500
OAIE ZHIS X 1,000
202 (44l 17,400 15,600 1,800
01 SLHOIYI 1,200 1,200 0
O=Waotl 1,200
02 M0 16,200 14,400 1,800
O HN Y 150,000& =128 «9H 16,200
203 YR =&l 9,100 9,100 0
01 JI22E =8 6,600 6,600 0
OJa2gge=a 6,600
02 33 H 2= 400 400 0
OZJNMHRFH 400
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